Quadratics

Homework 9

1.  Decide the nature of the roots in the following equation:
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2.  Prove that 
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 is a tangent to 
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 and find the point of contact.
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3.  Find 
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 if the roots of 
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are equal.
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4.  Express 
[image: image6.wmf]x

x

2

2

7

+

+

in the form 
[image: image7.wmf]b

a

x

+

+

2

)

(

 

   

 (a) Hence state the minimum value of 
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 (b) State the maximum value of 
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EMBED Equation.3[image: image10.wmf]and the



       corresponding value of x.





(5)
5. A statistician claims that purchasing 15 new street cleaners will reduce the 

    amount of litter by 65% after cleaning. However, after testing it is found that a    

    further 1400kg of litter are dropped between cleaning times. What is the 

    minimum weight of litter found at any point after cleaning?


(5)
6. Differentiate 
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